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Problem Solving for Chapter 13
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3. —CONTINUED—
m )\ _ 1—009((77/2)—0)_\/1—sin0
Q) tan(z(z 0)) - \/1 +cos(m/2)— 6 NV 1+sne

(1 —sinp)? _ (1-sng>_1-sno
(1+sn6)(1—sno cos? 0 cos 0

/2 /2
@ 1,= 4[ arctan(w)de = f arctan(tmG(iT - 0))) dé
/6 cos 6 /6 2\2
/2 /2
4J %(g - e)de = 2f (g - 0>d0
/6 /6

277/2 2 2 2 2
g5 A5 (53
277 21 4 8 2 7
_ w zfi 2712
_2[ 72 7T]_3<5”_9
e R R - R Y
1-xy

1t 1 11 ,
LLlfxdedy:LL[lJr(xy)Jr(xy) + - Jdxdy

fE& =5, 54,

1

1

K+l

© 1 =)
:KEOJ;)KJF]' KE()(I(-"_:L)2

&1

x 1
— 2K 2

_X+y =y—X y
(g) u= ﬁ,v ﬁ

2 _u-v
NZ NZ &
u+v:ﬂD y:u+v

V2 V2 x

Ay _ ‘1/\@ -1/V2| _
au, v |1/V2 1/V2| v

R S
(0,00 - (0,0

1 1
w0 - (5373)

1 1
0y - (&w)
11 - (V20

V2/2 fu V2 -u+V2 1
ff dxdy = J' f dvdu+f f ——5 5 dvdu
odol—xy Vaalu-va g WLV

2 2

u—v=

N

w
:|1+|2:T+

(e¢]



176  Chapter 13 Multiple Integration
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